





NET CONSUMER'S SURPUS = GROSS CONSUMER SURPLUS --- EXPENDITURE =

[CONTRIBIUTION TO UTILITY FROM BUYING x1 UNITS OF GOOD 1 AT PRICE p1 = GROSS CONSUMER'S SURPLUS]

MINUS

[CONTRIBUTION TO UTILITY FROM SPENDING MONEY p1x1 FOR GOOD 2, RATHER THAN FOR GOOD 1]
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[CONTRIBUTION TO UTILITY FROM SPENDING MONEY p1x1 FOR GOOD 2, RATHER THAN FOR GOOD 1] 
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= GREEN AREA
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AN EQUIVALENT DEFINITION:
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= MAXIMUM
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PAYMENT the CONSUMER IS WILLING TO MAKE TO AVOID the INCREASE IN PRICE p1
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EXAMPLE:
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= u(x1*, x2*) = 60
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m' = 240,			compensative income variation = m' - m = 240 - 120 = 120
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A FAMILY OF ISOQUANTS IN INPUT SPACE
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IS FIXED


IN THIS REGION THE
MARGINAL PRODUCT OF
x1 IS INCREASING
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